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No B H—F BF B | No *EEH—k
1 aAVETF(E) \"S a7 (R) 10:20 1 R—52R(E) \5 FAI(R)
2 TR ILER) vs BAR(E) 10:30 2 JRAVET7(E) vs R—32R(E)
3 AL 7(R) \S LR ILER) 10:40 3 FAI(R) \£ B Z&(#&)
4 aAYE7(E) vs ERHILER) 10:50 4 a 7 vs FAI(R)
PR
5 R—SUR(E) vs AZ(H) 11:10 5 JRAVET7(E) vs FAY(R)
6 R—S2R(E) Vs ERAILER) 11:20 6 A7 () Vs B &(#&)
7 FAI(R) vs ERHILER) 11:30 7 a7 (k) vs R—SUKR(E)
:>><\:\ 11:40 8 aAVET(E) vs B &)
Bl = H(12:00~)
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E(;Z)F 0-4 4-1 1-2 0-0 1-2 4 | 6 | 9 | -3 5

5

= ':('Zél)f_}’ 4-0 2-2 2-2 0-3 4-1 8 | 12 | 8 | 4 2

-Iz?‘%é:;‘) b1 s 2-2 2-2 3-2 2-1 g8 | 10 | 11| -1 3

7'"?3’ N P 2-2 2-2 2-1 1-0 11 9 6 3 1
':('U/_J 0-0 3-0 2-3 1-2 41 7 | 10| 6 | 4 4
i 2-1 1-4 1-2 0-1 1-4 3 | 5 | 12 | -7 6




